Tutorial No.-5

Subject: DBMS

Q.1:  Discuss the Fourth Normal Form (4NF) in detail.
Q.2:  What do you understand by fifth normal forms? Why 5NF is also called project join normal form. Explain with some suitable example. 
Q.3:  Explain BCNF with a suitable example. "A decomposition in BCNF may be lossless and dependency preserving." Is this statement correct? Justify your answer with a suitable example. 
 (i) Discuss lossless join and dependency preservation. Given a lossless join decomposition of scheme R into Fourth Normal Form. Justify your answer. 
Q.4:  Define multivalued dependencies. What type of constraints does it specify? When does arise?
Q.510:  Consider the following two sets of FDs 
   F :{ A->C, AC->D, E->AD, E->H} and G= {A->CD, E->AH}, check whether they are equivalent.
Q.6:  Consider the universal relation R={A,B,C,D,E,F,G,H,I,J}  and  the of FDs F={AB->C, A->DE, B->F, F->GH, 
D->IJ}.What is the key for R? Decompose R into 2NF and then 3NF relations.
Q.7:  Repeat Exercise above for the following different set of FDs G= {AB->C, BD->EF, AD ->GH, A->I, H->J}.


[bookmark: _GoBack]Q.8:  Consider the relation R (ABCDE) with the following FDs:
      AB->C, CD->E, DE->B
 Is AB is a candidate key of this relation? If not, is ABD? Explain your answer.
Q.9:  Consider the following relation CAR_SALE (car#, date_sold, salesman#, commission%, discount_amt)
Assume that a car may be sold by multiple salesman, and hence {car#,salesman#} is the primary key.Additional dependencies are 
Date_sold- > discount_amt
And salesman# -> commission% 
Based on the given primary key.is this relation in 1NF, 2NF, or 3NF? Why or why not? How would you successively normalize it completely?
 







